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e Please check that this question paper contains 21 printed pages + 1 Map.

e Please check that this question paper contains 34 questions.

e Q.P. Code given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please write down the serial number of the question in the answer-book

before attempting it.

e 15 minute time has been allotted to read this question paper. The question
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the students will read the question paper only and will not write any
answer on the answer-book during this period.
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(viii)

(ix)

5 J77-99 H 34 Y97 & | G I97 ST & |
9795 gie @S]  [aY1i5id & - @UE &, @, M, §09 § /
GUE & - 97 G&IT 1 G 21 Tglascdid THR & F97 & | T% Fo7 1 37 13 |
GUE & — Fv7 G&IT 22 & 27 TY-IF0T PR & Jo7 8 | e3P 97 3 37 H & |
Feddh g9 T I 60 & 80 Vegl 4 i/ |
S - 597 T&I7 28 T 30 F-37T (LA) THR & F97 & | Icd4% T97 8 37%] &1
g | F7% T97 T I 300 G 350 55 7 1o71&w |

- ¥v7 §&I7 31 8 33 T I9-vA qre G- ¥ & | IAFH T
4 37 BT 3 |
GUE & J97 G&IT 34 THITA-STTRT I97 & 1588 Tgwarqul WIerT axqai] &1 9=
3T TYIT IMGA & | T8 97 5 3751 BT & | 7 B FT-GIEdhl & T GFd & |
J97-97 § GuT by 787 1337 =T B | IEf, @vs &, 7T a9 7 § Ak abeqy H
1Y 1397 77T & | Riema ®1 57 F979] 3 G f6d] Tk F97 &1 I 1or@T & |
$G% ST1A1E, €I § o ghcanea el & /g Biel aar Frafed 371 STemia
Y] & T W U 37 Jo7 1697 T & | §7 o] & I T gleesed qiee] &
@ |

«usg

(Tgfereredta TR < W) 21x1=21
a1y & el 4 Fefefaa 4 @ S8 faeca g 8 2
I. WY Ueh Sgd SARBIA! HETSHIG T |
II. TS |97 hl Toe™T ot |
III. Ty 31e-30h & § o |
IV. Y JThiceh GHIEHT § TG o |
ICETR
(A) I I3 IVHE &
(B) I, I3 1% &
(C) I, I3 IVad 8
(D) 11, III 3R IV &8 &
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General Instructions :

Read the following instructions carefully and follow them :

(i)
(ii)
(iii)
(iv)

(v)

(vi)

(vii)

(viii)

(ix)

This question paper contains 34 questions. All questions are compulsory.
Question paper is divided into five Sections — Sections A, B, C, D and E.

Section A — question number 1 to 21 are Multiple Choice type questions. Each
question carries 1 mark.

Section B - question number 22 to 27 are Short Answer type questions. Each
question carries 3 marks. Write answer to each question in 60 to 80 words.

Section C - question number 28 to 30 are Long Answer (LA) type questions.
Each question carries 8 marks. Write answer to each question in 300 to 350
words.

Section D — question number 31 to 33 are Source-based questions having three
sub-questions. Each question carries 4 marks.

Section E — question number 34 is Map-based question that includes the
identification and location of significant test items. This question carries
5 marks. Attach the Map with the answer-book.

There is no overall choice. However, an internal choice has been provided in
Sections B, C and D of question paper. A candidate has to write answer for
only one of the alternatives in such questions.

In addition to this, Note that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs, Map
etc. Such questions are to be attempted by Visually Impaired candidates only.

SECTION A
(Multiple Choice Type Questions) 21x1=21

Which of the following options are correct regarding Magadha ?
I. Magadha was the most powerful Mahajanapada.

I1. Rajgaha was the capital of Magadha.

III. Magadha was in a semi-arid area.

IV. Magadha was rich in natural resources.

Options :

(A) I,II and IV are correct

(B) I, II and III are correct

(C) I, 1III and IV are correct

(D) 1II, III and IV are correct
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2. TTfaRaq =1 AT ¥ HHEG i TR T fawhed 1 =74 HIT
I. 3730 o IMEH II. HEUgHAg ol IMEA
III. gYae &l e IV. g ol AEA
ICETR I
(A) L IIL IV, II (B) IIL1II 1, IV
C) ILI IV, III D) IV, IIL 1,11
3. TV I % e WY 11§ Hife 3R @&t fasheq @1 == i -
&Y | &y 11
(TETHRT & 9T7) (qr7eT)
1. gdem () Tefew =1 g
9. iuw (i) YHTZ BT IS A
3. &l (ii) dTSdl S T
4, TR (iv) G T AT
ICETR
A 1-Gv), 2-(dii), 3-(11), 4-(1) (B) 1-G1), 2-(3), 3-(iv), 4-(iii)
(C) 1-G1), 2-(1), 3-(ii), 4-1v) (D) 1-Gi1), 2-Gv), 3-(ii), 4-(1)

4. Tfafed 4 & fopd S Al Hl g H1 & T8 qdehall SA | ST T 8 ?

(A) TS el Stef (B) WU hell Sl
(C) TYR el et (D) T el et
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2. Arrange the following in chronological order and choose the correct
option :
L. Rule of Asoka II. Rule of Mahapadma Nanda
III.  Rule of Harshavardhana IV. Rule of Samudragupta
Options :
A LILIV,II (B) ILILILIV
©) IL I IV, III (D) IV,IIL I 1II
3. Match Column I with Column II and choose the correct option :
Column 1 Column II
(Characters of Mahabharata) (Role)
1.  Duryodhana (1)  Son of Hidimba
2. Gandhari (i) Eldest son of Dhritrashtra
3. Kunti (iii) Mother of Pandavas
4 Ghatotkacha (iv) Mother of Duryodhana
Options :
(A)  1-Giv), 2-(111), 3-(i1), 4-(1) (B) 1-Gi), 2-(1), 3-Gv), 4-(i1)
(C)  1-G1), 2-(1), 3-(iii), 4-1v) (D) 1-Gi), 2-\v), 3-(iii), 4-(1)

4, Which of the following schools of art is depicted in the given sculpture
image of Buddha ?

(A) Amravati school of art (B) Mathura school of art
(C) Gandhara school of art (D) Gothic school of art
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Fig: [HlRgd o7 Fac gheatfaa qhReniaal & (/0 9.9. 4 & T W E :
g 1 F1eqsti o1 b TfciRad | & fop T o fopam T 2

(A)  FHTETT G (B) g fiee
(C)  Fougd (D) #@&g
5. feu T foshedt ® @ 3 wieg @ feh T i gfd i
1 ST ORI IaAHH Toteer H feerd 2 |
(A) TGRSt (B) U
(C)  hIeiteT™ (D) W=

6.  hi-uH % e’ # fAfcfigd oMt 1 ufeu 3R 48t faehed =1 =94 i
I.  Si-oH YR GUdTee T80 1 Tgell SPRae-SH{d o |
II. 35 1931 vared! & A& H qUATis 3c@-- 1 il Ay R |
III. 38 qUa hi Ighd § S aRelgar o1 FaTeas o |
IV. 38 = sig dLhR g/ Big T gardi o1 S=E R |

ﬁ%'_c'q:
(A) IR IVEE E (B) I3RIITE &
©) I, IR Irad (D) 1,11 3R IVEe 8

7. = weH feu u E, efireRed (A) 3 HRW (R) | 3% AMYES ufgy 3R
gl foehed 1 =9 HITT
BT (A) : T Sl A WRAT HiY 1 S5 Icd1geh TR |
HR (R) : Tt Sues oft g fora™i =6t O d @ BEA! Sl ITHET T9E
a1 |

ICETR IR
(A)  JATYHAT (A) 3T I (R) AT T&l & 3T hRIT (R), TR (A)
g ITEAT AT 2 |

(B) AfYHAT (A) 3TN BRI (R) THI T8l §, T BRI (R), ANTHIT (A) i
el AT 7gT Rl @ |

(C) AfTHAT (A) T& 7, T SR (R) Tod 7 |
(D) M (A) TTerd 8, W HIOT (R) T8 8 |
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Note : The following question is for the Visually Impaired Candidates, only in
lieu of Q. No. 4 :

In which of the following texts were Buddha’s teachings compiled ?

(A)
()

Uttaradhyayana Sutta (B) Sutta Pitaka

Kalpsutta (D) Rigveda

5. Fill in the blank with the appropriate word from the given options :

The Harappan site of is located in present day Rajasthan.
(A) Rakhigarhi (B) Lothal
(C) Kalibangan (D) Manda
6. Read the following statements regarding Cunningham and choose the

correct option :

L. Cunningham was the first Director-General of ASI.
I1. He began archaeological excavations in mid 19t century.
III. He brought a military precision to the practice of archaeology.
IV.  He used the accounts left by Chinese Buddhist pilgrims.
Options :
(A) Tand]IV are correct (B) I and II are correct
(C) I, 1II and III are correct (D) 1I,1II and IV are correct
7. Two statements as Assertion (A) and Reason (R) are given below. Read

them carefully and choose the correct option :

Assertion (A) :  Ibn Battuta found Indian agriculture very productive.

Reason (R) : The soils were fertile which allowed the farmers to
produce two crops a year.
Options :
(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is
the correct explanation of the Assertion (A).
(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is
not the correct explanation of the Assertion (A).
(C) Assertion (A) is correct, but Reason (R) is incorrect.
(D)  Assertion (A) is incorrect, but Reason (R) is correct.
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8. fafafga SRl <Al Tg™ar 9 =ais <l g9 hifvw
o IE Ush Uflg AMNIAT, TdeTeh TR YHEhT o |

e 1815 T 3T YN I UgdT T FA ST =T |

faeney
(A)  AorRatst e
(B)  hiferd Hebsit
(C) S ueie
(D) IT.3.TH. THIK
9. fmfafed 4 & -1 ISl 98! gafed & ?
&7y 1 &dFT 11
(H137) (Tar)
Ferere wfet — s
EeTa HicT —  fowam
(C) TR H — S
(D) TR U9 " —  dfierg

10. 9 s ¥ Fmfafed § & #9-a1 wefian yra iR e & e JH

SITIR | & AT 3T ISTE o et T 380 H ot Serd shtar o 2

(A) T
(B) A
(C) o18M
(D) @t

o (@

11. frfafed & 9 sF-a sier w8 gufaa 8 ?

ga 37T &7
(A) HeEEH —  FHARH
(B) HeTs — YOI
(C) STHET —  37Eq
(D) Yhied — JIW I
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8. Identify the person with the help of following information :

He was a famous engineer, surveyor and cartographer.

He was appointed the first Surveyor General of India

Column 11
(Location)

Thanjavur

Vijayanagara

in 1815.
Options :
(A) Alexander Greenlaw
(B)  Colin Mackenzie
(C)  John Marshall
(D) R.E.M. Wheeler
9. Which one of the following pairs is correctly matched ?
Column I
(Temple)
(A) Chidambaram Temple
(B) Brihadishvara Temple
(C) Chennakeshava Temple

(D)

Hazara Rama Temple

Belur

Tamil Nadu

10. Which one of the following tribes was engaged in overland trade between
India and Afghanistan and in the villages and towns in Punjab during
the Mughal era ?

(A)
(B)
()
(D)

Mundas
Koch
Ahoms

Lohanis

11. Which one of the following pairs is correctly matched ?

(A)
(B)
(C)
(D)

61/3/1-13

Saints

Kabirdas —
Mirabai —
Basavanna —

Shankaradeva —

Their Region
Karnataka
Rajasthan

Assam

Uttar Pradesh
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12. ¥ I 1 ae a9 11 9 Hifve ik Fefafea 8 9 98 faecy =1 ==e

HIIT
&TET [ T 11
(1857 % fagig & Har ) (garerT &)
1. PR R G frem
2. RME HA (i) W
3. Tofom =g (i) SEId
4. T (iv) <G>
ICETRIE
(A)  1-(), 2-(31), 3-(ii1), 4-(iv) (B) 1-(Gii), 2-Gii), 3-(iv), 4-(1)
(©)  1-G1), 2-(ii), 3-Gv), 4-(1) (D) 1-Gv), 2-(ii), 3-(iii), 4-(1)
13. Tafafed & & fhaa 7a7yra &1 GuTEEHTHS TER0T dIR i &1 T
33T ?
(A) ST (B) &l
(C) dlua. W (D) TH T 3Mi
14. T I 1 e ey 11 8 $ife R 98 faeheq 1 9=[ i :
Ty Ty Il
(777) (Teret 778 feairs])
1. AgA A Q) 2909 §7 § JIT TR
2. IS S (i) [Hara-3a-fa<
3. r-feedt (iti) REer
4. HIET S (iv) 3TE7-T-3THH]
ICETZIE
(A 1-(v), 2-(iid), 3-(i1), 4-(1) (B) 1-(Gii), 2-(i1), 3-(1), 4-(iv)
(©)  1-G1), 2-(1), 3-(iv), 4-(ii1) (D) 1-G), 2-(ii), 3-(ii), 4-(iv)

15. fou T foepedi # @ 3@ weg @ ik wa™ 61 gfd Hifr

T ST 1 98 T a0 T o o1 Ueh BHA hl ATAMT Wt gt off, i
<hal SIdl o7 |

(A) TS (B) 9! (C) X (D) ==K
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12.

13.

14.

15.

Match Column I with Column II and choose the correct option from the

following :
Column I Column I1
(Leaders of the Revolt of 1857) (Related Region)
1. Kunwar Singh (i) Singhbhum
2. Shah Mal (i1)) Arrah
3. Birjis Qadr (iii)) Barout
4.  Gonoo (iv) Lucknow
Options :
A  1-(1), 2-(i1), 3-(iii), 4-10v) (B) 1-Gii), 2-(11), 3-(1v), 4-(1)
©C)  1-G1), 2-(iii), 3-(iv), 4-(1) (D) 1-Gv), 2-(i1), 3-(iii1), 4-(1)

Who among the following initiated the task of preparing the critical
edition of Mahabharata ?

(A) D.N. Jha (B) Irawati Karve
(C) V.S. Sukthankar (D) Ram Karan Sharma

Match Column I with Column II and choose the correct option :

Column I Column I1
(Traveller) (Books authored)
1.  Abul Fazl (i)  Travels in the Mughal Empire
2.  Ibn Battuta (ii) Kitab-ul-Hind
3. Al-Biruni (iii) Rihla
4.  Francois Bernier (iv) Ain-i-Akbari
Options :
(A 1-(iv), 2-(ii1), 3-(i1), 4-(1) B) 1-Gii), 2-11), 3-(1), 4-G0v)
C)  1-(1), 2-(1), 3-(iv), 4-(ii1) (D) 1-G), 2-(i1), 3-(i1), 4-1v)

Fill in the blank with the appropriate word from the given options :

The land which was annually cultivated for each crop in succession was

called in the Mughal Empire.
(A) Polaj (B) Parauti (C) Banjar (D) Chachar
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16.

17.

18.

19.

20.

21.

frafaRga o @ fre S & W@l 4 WaarE! =ae § 9EHi + fowg OaE
o e 2

(A) ofay™ (B) STHYL (C) N (D) g
frafafga # @ ®F TR Ui HE & T g O qEiYd o ?

(A fofum =g ara (B) T TR foeteh

(C) U W M (D) ATl AT T

“IRA B! ATareq & Hafed fefaled swaai & @ SF-an 98t 787 7 2
(A) YRd BIS! ARIAT Toh SH TGl o |

(B)  ®SII Wi 3 59 Ao # Wi fer |

(C) Tar R BieAq & “Tads’ | shi TATIAT L & 7T |

(D) TETS | TS HSAl hl Teh T@AT TATMYA hl 7T |

“gF T AGH, I8 qr e arclt T oft 1”7
freaferiad o | foreq 34 aferdl sl forar o et 18 1 3= w1 foliy
% e o &9 H i foran g 2

(A) TN TR (B) §Iera Frardt frem
() TEy T T=[ (D) Wl HAN =EH

13 femrsr, 1946 &t wfaum qun ¥ f=fafea 0 o fem <t w=a@” oW
fopam 2

(A) dedY HIs 9ed (B) .31, 3m=gt

(C) AT S8 (D) TSi=< J4Te

iTg™ AT | hrg § Hlgd TR S o foie fefaiad § & fhd W ==t i
3 ? f=faifaa @ @ gl ooy o1 ==m hifSw |

I. < eI o TIT JIoET s o fIU |

II. TS9O W A SR TA1Ud i o o |

III. 39cisy 3TTeieh FHTEHT &l M o foTT |

IV. Tacsh sTmehmor & <31 61 &1 i o o |

ferehey -
(A) L II3M IV (B) I, II3TR III
(C) II I 3R IV (D) I, I3 IV
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16.

17.

18.

19.

20.

21.

In which of the following districts did the ryots revolt against sahukars of
the Ryotwari system ?

(A) Awadh (B) Barrackpore (C) Bhagalpur (D) Poona

Who among the following belonged to a Moderate group of Indian
National Congress ?

(A) Bipin Chandra Pal (B) Bal Gangadhar Tilak

(C)  Gopal Krishan Gokhale (D) Lala Lajpat Rai

Which of the following statements is not correct regarding ‘Quit India
Movement’ ?

(A)  Quit India Movement was a mass movement.

(B) Thousands of Indians took part in this movement.

(C) ‘Independent’ governments were proclaimed in Satara and
Medinipur.

(D) A series of ‘Praja Mandals’ were established in princely states.
“Khoob ladi mardani, woh to Jhansi wali rani thi.”

Who among the following has written these lines and portrayed Laxmi
Bai as a symbol to resist injustice ?

(A)  Sarojini Naidu (B) Suryakant Tripathi Nirala
(C) Harivansh Rai Bachchan (D) Subhadra Kumari Chauhan

Who among the following introduced the ‘Objectives Resolution’ in the
Constituent Assembly on 13t2 December, 1946 ?

(A) Vallabh Bhai Patel (B) B.R. Ambedkar
(C) Jawaharlal Nehru (D) Rajendra Prasad
Which of the following were discussed in the Constituent Assembly for

making a strong government at the Centre ? Choose the correct option
from the following.

L. Planning for the well-being of the country.
II. To establish strong administration at the state level.
III.  To mobilise available economic resources.

IV. To defend the country against foreign aggression.

Options :
(A) I IIandIV (B) I,IIand III
(C) II,III and IV (D) I IIlandIV
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23.
24.
25.

26.

27.

28.

29.

Qs @
(FTg-3HT TR & I9) 6x3=18
() Tt woell W sswmartt grn 3w 6 oW areft =g < fafest 6t
SR HIRT | 3
Jrra
(@) &S @Xdl H AN o Sre g TR onfdes ofal wl wHeH o
Sy fhg R TR 2, ST i | 3
e gmsT & 91 4 I o fafye gt o faveser fifse | 3
T ST 4 A 80U 1 9 k8 TR fohal g 2 T itV | 3
AT = T -TTET JUTTert ol fohdl TohR Sdafeyra foparm 2 Tum shifvw | 3
(%) THS GUWEh o &9 H TS Bl YHehT T JUM hHITT | 3
Ireran
(@) ¥Rd H 1905 ¥ 1907 % QU TSI JTalei i Tidfafed i e
HIIT | 3
Sttt U grr aRTiYd ueh fsaTard] AnTieh @ TOT hl SRS Hifg | 3
Wus T
(et IHR & T9 ) 3x8=24
(%) @i o WU s G&F foRmarsti 3R 39 &0 § 9uTa o SEehi i
Y[RT h1 @ HIWT | 5+3=8
Ireran
(@) g & gea Wensti f w@ He iR §g & 999 § dtg gd oot |
F §GT, AT hifoy | 5+3=8
(®) SAERI IR AR o TR I SARST HINT | TAT o 1T F-gi4 A0
Ty Tohd YRR T TR ? Tuse shifdT | 4+4=8
rera
(@) HHERG % 35T o HRUN hl AT HIWT AT AT o6 T o6 A1
TEel ol ot Tse i | 4+4=8
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SECTION B
(Short Answer Type Questions) 6x3=18
22. (a) Explain the methods of irrigation used by the Harappans at
different sites. 3
OR
(b)  Explain how burials help in understanding the social and economic
differences amongst the people in Harappan civilization. 3
23. Analyse the various sources to know about the Mauryan Empire. 3
24. Explain how Ibn Battuta described the Indian cities. 3
25. How did Mughals organize their land revenue system ? Explain. 3
26. (a) Describe the role of Gandhiji as a social reformer. 3
OR
(b)  Explain the activities of the national movement in India during
1905 to 1907. 3
27. Explain the attributes of a loyal citizen as defined by G.B. Pant. 3
SECTION C
(Long Answer Type Questions) 3Ix8=24
28. (a) Examine the main features of the Stupa at Sanchi and the role of
the rulers of Bhopal in preserving it. 5+3=8
OR
(b) Examine the major teachings of Buddha and explain why
Buddhism grew rapidly during the time of Buddha. 5+3=8
29. (a) Explain the ideas of Alvars and Nayanars. Elucidate how they
established their relations with the states. 4+4=8
OR
(b)  Explain the causes of the growth of Sufism and also explain the
Sufis relations with the state. 4+4=8
61/3/1-13 Page 15 of 23 P.T.O.




30. (%) G U FAH SCIe%d o hREFEIT N 3Hb YROMHT 1 guifad A
T ShTTeh! <hl TG hIfWT | 4+4=8

HAAAT

(@) “18ff 3raTedl &% 7 H IW A & F© &A1 B AR IHTE=IA 59 M0

J |” 39 %Y hl T HINVT | 8
ECLCRS|
(Era-3TTeTRa I9 ) 3x4=12
31. feu wu E =+ eamyds ufgr it Fi= fu Mo gt % s @ 1+1+2=4
T8 FAR | T TR 2

o

fefeTiad 3731 S%hd o T A0 8 3gd @ ¢

%S AN bl Fld ¥ Fcdd Y9 8 S S I 4T g1 g; 3 hl Td 7 dehsl
a9 Sfafat (3 @Rar 89) *1, 38 @@ d 3F% s 8 aifa 8 | (379)
forta wia @ 3 d1fies SARAMI # qoci| &... $© AN 39 T TTBHl H
I3 2; TH A& Y W T8 W art () @it I 0 9 & |

(31.1) ToaeE @ gt < Ifd 99 9 sa<k fohan T 2 1

(31.2) =REA 3 Al @iat foe | <19t fgorar w8 wefdia i 2 1

(31.3) Tareoim # 3fgfaa fafye afawet 3 oo & amw e 4 f5g TR

e T 2 2
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30. (a) Examine the factors that influenced the implementation of the

Permanent Settlement in Bengal and its consequences. 4+4=8
OR
(b)  “The jotedars became powerful figures in many areas of North

Bengal during the end of the 18%h century.” Examine the

statement. 8

SECTION D
(Source-Based Questions) 3x4=12

31. Read the given source carefully and answer the questions that
follow : 1+1+2=4

What the silk weavers did

Here is an excerpt from the inscription, which is in Sanskrit :

Some are intensely attached to music (so) pleasing to the ear; others,
being proud of (the authorship of) a hundred excellent biographies, are
conversant with wonderful tales; (others), filled with humility, are
absorbed in excellent religious discourses; ... some excel in their own
religious rites; likewise by others, who were self-possessed, the science of

(Vedic) astronomy was mastered.
(31.1) How was love for music expressed in the inscription ? 1

(31.2) How did individuals demonstrate their mastery in the science of

Vedic astronomy ? 1

(31.3) In what ways did the various talents mentioned in the inscription

contribute to the overall fabric of society ? 2
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32. fqu v &a i eamgEs qfer R = fou o et & 3w i 1+1+2=4
ISt /STerrerat et fAmtor fore werr grar o 2
FICd T G THaTE T TARE  fawa § ug fo@ar 7 -

TSl 3 Teh SIAR SHEMT ... @ Jglisdl & ga-fosk w few gt o o fore
UEEl ¥ AW Il O A d8l 3l Bl, 3ok AT A 9 WA (ST
15 Teprt) & ot 31fersh <l g8t @ WTswl © 3T @ S el JEen & e fTew %
Y- SHE TC I | Ig A Tob A I AT AT 8 9 Serehid & Gg Tob DIt
TG H THAdt 7 | STAR H dH e w699 §9 8 N W GEEd! 9 = 3R T
& ¥ S0 W %o Uil ¥ 9 §U § NHE I 310 shitel 9o 9 % Edl sl
f=ms @ e 9 1d & | 39 TR B 99F o [T 39 TS | T g0 uRied
i gear T ... JTamE ® #9 3a4 AN i M Hid @l b I8 Ige | &\
IR 3meHt o, <fifeai fr @@ ..

(32.1) HWCT TF  JAE 1 AT FT HLaw=T ? 1
(32.2) FHWICH T 7 AR ok AU o [T < TaTISAl o H@-Toa o T
Fi AT ? 1
(32.3) AWM % YT T WA fohe ThR foham Smar o 2 2
33. feu u wq @ eamyds ufgu ot Fiw fou o gwt &% 3w @ 1+1+2=4
IS TTES AT G &
Th IR T H UH ek bl geen W ooty R S @1 @ B AeeE st
Ty Sred wdl

AT 3R forom, TS T @ 9 |

3T F1T 37T Udl-freatrar o1 |
SR STH-U-3ATH <@ 9 e dont 9eg 9t e B |

(33.1) 4T 1 B 1 deehlcd THTH T UST 2 1
(33.2) aT % TMEl ¥ §eA IR AW W WATcH IYA-YIA FI T ? 1
(33.3) 3799 T AREY U <h! A fRres wrifa # fora TR @&l @1 2

Tqse Hifeu | 2
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32.

33.

Read the given source carefully and answer the questions that

follow : 1+1+2=4

How tanks were built ?
About a tank constructed by Krishnadeva Raya, Paes wrote :

The king made a tank ... at the mouth of two hills so that all the water
which comes from either one side or the other collects there; and, besides
this, water comes to it from more than three leagues (approximately 15
kilometres) by pipes which run along the lower parts of the range
outside. This water is brought from a lake which itself overflows into a
little river. The tank has three large pillars handsomely carved with
figures; these connect above with certain pipes by which they get water
when they have to irrigate their gardens and rice-fields. In order to
make this tank the said king broke down a hill ... In the tank I saw so
many people at work that there must have been fifteen or twenty
thousand men, looking like ants ...

(32.1) Why did Krishnadeva Raya construct a tank ? 1
(32.2) Why did Krishnadeva Raya choose the location at the mouth of
two hills for building the tank ? 1

(32.3) In what ways was the water from the tanks used ?

Read the given source carefully and answer the questions that

follow : 1+1+2=4
The Nawab has left

Another song mourned the plight of the ruler who had to leave his
motherland :

Noble and peasant all wept together
and all the world wept and wailed

Alas! The chief has bidden adieu to
his country and gone abroad.

(33.1) What was the immediate impact of the removal of the Nawab ? 1

(33.2) Why was there emotional upheaval at the dethroning and
departure of the Nawab ? 1

(33.3) How did the annexation of Awadh fit into the British colonial
strategy ? Explain. 2
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U T
(umaters-smenfa we ) 5

34. (34.1) WNRA % QU T o W@I-AFARE (56 23 W) ¥, FefaRad =i
Ik Toml @ <Afeha hifore ofik 3k A forfaw 3x1=3

(i) CIaEN - g eda
(i) T TFY - 3Tk o RIATE 1 Teh T

(i) () foommr
HAAT
(iii) (@) SR

(34.2) WRA % TET ToHI{deh G- qHRT W e TAH Bl A 3 B & &9 |

fafed foram T 2 S 1857 % avA fafew & arefimey 9 | 3= wgaTG
IR 37 Tehe Gl T8 Waret W wE AW faileu | 2

Fie: T 397 Fac7 gheanfaa qhemaal & 7 3. 4. 34 & &7 W3

(34.1) Torell U ESUUT YUEIA 1 A9 fIfEw | 1

(34.2) TohEl T Slig TA 1 Ioai@ HINT | 1

(34.3) (&) Too=R wwT=T & TAGHT 1 T [AET | 1
arera

(34.3) (@) TooR gy < foreft T gei U= @1 W fafEu | 1

(34.4) 1857 & < fafew srefiey fondl <1 wredl &1 3g@ dhifvE | 2
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SECTION E
(Map-Based Question) 5

34. (34.1) On the given political outline map of India (on page 23), locate and
label the following with appropriate symbols : 3x1=3

(i) Dholavira — a Harappan site
(i1)  Meerut Pillar — a site of Asokan inscription
(iii) (a) Vijayanagara
OR
(iii)) (b) Bijapur

(34.2) On the same political outline map of India, two places related to
British control in 1857 are marked as A and B. Identify them and

write their correct names on the lines drawn near them. 2

Note : The following questions are for the Visually Impaired Candidates, only in
lieu of Q. No. 34 :

(34.1) Name any one Harappan site. 1

(34.2) Mention any one Buddhist site. 1

(34.3) (a) Name the capital city of Vijayanagara Empire. 1
OR

(34.3) (b) Mention any one neighbouring state of the Vijayanagara
Empire. 1

(34.4) Mention any two cities which were under the British control
during 1857. 2
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9T 9. 34 % fau

For question no.

WA hT ET-HTE (TR )

Outline Map of India (Political)
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